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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 31,697
= 280,485
SAI23HA 169,528 144,286 25,242
= 1,684
&< 10,087
= 157,757
SASEINE L E2AHAA 97,660 93,683 3,977
101 Q121 H| 29,560 25,095 4,465
04 JI2ZtHIZ22NEES 29,560 25,095 4,465
O ASHAM o5t 2K & 29,560
- J=3 73,2803 260 19,053
- F54H 73,280& x52L 3,811
— EX=E 73,2803 15 1,100
— JIZ2tHl 4AUES 2,396,000& 2,396
— S04 100,000& 12& 1,200
— &3 2,000,000& «1& 2,000
201 Bt 16,100 15,588 512
01 AP 22| H| 13,600 13,600 0
O «Btxx=ZH| 13,600
— SAIEINE EE22 ME
,000& x2E +7400H 7,400
— SARH WM HEB Y oY R
100, 000 2000 A 2,000
— ARSE L HUARE Y
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— RYHAA XE HLHEH &
150, 000 x 1000 & 1,500
— ABAEIIZ 2YFNE S BHLY
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O 22244l 2,500
— XS 2,000,000 «1CH 2,000
— AAUXCAN 25 2E 21,0003 *x500F 500
202 044l 1,000 1,000 0
01 2L I 1,000 1,000 0
O ANZ BEEs S04 50,000& x5 x4 H 1,000
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01 X2 H| 5,500 5,500 0
O M=4| 5,500
— SHEZNE 2 2W 2o
20,000& x50 1,000
— ZSAC AFYA M AX0LAMD P
ol 15,000 x300&d 4,500
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Hu: AZS ML
Ee: SAS3HA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O gAalHolE &x XA
400,000 *104 2~ *50% 2,000
& 600
= 1,400
SASIHE L LAHOI= XN 30,000 40,000 A 10,000
402 BI2H X 20| M 30,000 40,000 A 10,000
01 SI2ZEXIEANSEXR (MMM A) 30,000 40,000 A 10,000
O fAMHA dAHOZS &X N3 30,000
— 2AHIOIZ XN& 30,000,000 30,000
AMESH EOINY L T H2(Z=H]) 1,500 1,500 0
o=} 450
= 1,050
201 et | 1,500 1,500 0
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= 1,050
01 AR 22l ] 1,500 1,500 0
O /MS2SH ZEIIXE & ZXE HE AY
100,000 *15JH0 £ 1,500
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= 1,050
HESARII2 X A 6,000 6,000 0
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= 8,400
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201 et 9| 28,000 0 28,000
o= 8,400
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01 AP 22| H| 14,000 0 14,000
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O dE=3SAHel 829 & A &9
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= 4,200
= 9,800
HEl o] HsHel otd 22| 214,000 214,000 0
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& 21,400
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H2lol JISAlE Me2e|! 29 (24]) 4,000 4,000 0
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L= B
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CEIPS
AZ S MR
AHIX AESIM 2A2Y

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O AL ZAIE S| 420,000 x2H 840
2 420
= 210
= 210
AU ASAMUANE ES 10,700 11,100 A 400
301 et A= 10,700 11,100 A 400
09 BALAHIXI ™2 700 1,100 400
O AHIXNAER/AMZIAIE BIlUs FA
50,000& *14H 700
12 JlEt2 43 10,000 10,000 0
O AHIXNAEAMZAIR ESHl 10,000,000 10,000
AlES S0 g2 17,320 25,120 ANT7,800
AES ole2tel 17,320 25,120 AT7,800
201 et 14,320 18,320 A4 ,000
01 AP 2t 2] H| 14,320 18,320 A4 000
O As=sieY 222 M 6,000,000& 6,000
O A=Y EAdIEME
66,0002 100K x23] 1,320
OXAR /AMUDEI A=ZS HEEsd 7Y
10,0002 x200H 2,000
O &z ASH P2 10,000 x5004 5,000
206 M = dl 3,000 6,800 A 3,800
01 T2l 3,000 6,800 ~3,800
O SESASEH F2LH 5,0008*x20F 250 & 500
O /ML SAK HMZBBANE 2
5,000& x200¥ x23| 2,000
O /AMAA Kot =2 BA g2
10,000& x50 4 500
e e ) 8,000 8,000 0
S22 8,000 8,000 0
201 et 7,000 7,000 0
01 AP 2t 2] d| 7,000 7,000 0
O Z2EAMAA EEES HE
100,000 *2E #3500 A 7,000
202 044 1,000 1,000 0
01 2LHO! bl 1,000 1,000 0
O 2L A= EZ 10,0008 x4H »25 1,000
HES2AAH(EHA) 196,818 165, 198 31,620
Jl2dHl 196,818 165, 198 31,620
ll2dd/2EHdd 68,398 69,318 A 920
201 et 29,118 29,118 0
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Ha: ¥HSYAH(2AL)
& 123l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 26,000 26,000 0
O e+l 15,000, 000& 15,000
O 2824 / =24 1,250,000& 42 | 5,000
O Sl 500,000& x12& 6,000
02 2324l 3,118 3,118 0
O 3&22= £ AA 3,118,000 =10 & 3,118
202 O4dl 28,800 30,000 A 1,200
01 = LH 4 Hi 28,800 30,000 A 1,200
O g2=& ol 20,0003 «8H 152 «12& 28,800
203 YR =& 10,480 10,200 280
02 A Jtatd =2 3,160 2,880 280
O sSUMsSUHa MLIE8E 2322 X
2 3,160,000& 3,160
04 FN2ELSZ=TH| 7,320 7,320 0
O BA2EYR=AH
(400,000 +(5,000& *42H ) )+ 12& 7,320
Jl234/A8&8sd 12,400 12,400 0
201 Let24E] 8,400 8,400 0
01 At 2t 2l 8,400 8,400 0
O e+l 1,200,000& 1,200
O =&l 8,000 «152 x5H «12& 7,200
202 O4dl 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
O A2SA HRFZA 04Hl 40,0002 203 x5 H 4,000
23t /gd=28H 14,480 14,480 0
201 Let24E] 8,680 8,680 0
01 At 2t 2l 8,680 8,680 0
O ekl 4,200,000 4,200
O =&l 4,480,000 4,480
202 Oddl 5,800 5,800 0
01 = LH 4 bl 5,800 5,800 0
O 4222 =X AHl(2L)
100,000 4 122 4,800
O 422d g2 Ayl (22)
50,000& »4H x5 1,000
Jl=22Z4I/XI042tel 7,480 0 7,480
201 £B-2%H| 5,000 0 5,000
01 At 22/l 5,000 0 5,000
O ger==&Hl 3,000,000& 3,000
O =4l 8,000& x2H 125 2,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 Od4dl 2,480 0 2,480
01 = LHA YI 2,480 0 2,480
O g2=2& ol 20,0003 »2H 622! 2,480
Jl23H/8AEAH 13,640 15,000 A1,360
201 L2l 8,840 10,000 A 1,160
01 At 22l 8,840 10,000 A 1,160
O el 5,000,000& 5,000
O =&l 8,000 x2H+x20 x12& 3,840
202 Oddl 4,800 5,000 A 200
01 = LH 4 Hi 4,800 5,000 A 200
O Fa2A JR=A o4l
20,0003 «2EH 10 128 4,800
2zt /2 ggae] 26,860 22,000 4,860
201 £B-2%H| 10,000 10,000 0
01 At 22/l 10,000 10,000 0
O ger==&Hl 7,000,000& 7,000
O =gl 3,000,000& 3,000
202 4l 12,000 12,000 0
01 = LH YI 12,000 12,000 0
O Zgdac|gdRF=a ol
20,0003 x6H «100&! 12,000
203 YR =] 4,860 0 4,860
04 EA2IYRFLH| 4,860 0 4,860
O BA2E2YRF=2
(400,000 +(5,000& 14 ) )« 1204 & 4,860
gzt /2ggis 21,760 0 21,760
201 Let24E] 15,760 0 15,760
01 At 22l 15,760 0 15,760
O e+t 10,000, 000& 10,000
O =&l 8,000& x6H 10 x12& 5,760
202 odl 6,000 0 6,000
01 = LH o4 1l 6,000 0 6,000
O 288 28 ol
20,0003 x6H x50 6,000
23t /d =z o et 18,800 19,000 A 200
201 LB-2dH| 8,800 9,000 A 200
01 At 2t 2l 8,800 9,000 A 200
O e+l 500, 000& *83] 4,000
O =&l 8,000& x5 10 128 4,800
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01 = LHA YI 10,000 10,000
O g2=2& ol 20,0003 x5 x100 10,000
Jl2ddl/| M 13,000 13,000
201 L2l 5,000 5,000
01 At 22l 5,000 5,000
O el 3,000,000& 3,000
O =S4l 2,000,000& 2,000
202 Oddl 8,000 8,000
01 = LH 4 Hi 8,000 8,000
O g2f=& ot 20,0003 x4 «100 8,000
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